. A8t ot

B Zodaze 2,37192 (11 =iy 9.4% St = Eid] 0.7% Z7})

- dukg A= 2,1909 902 AdE F2uY] 8.9%5 7t HEUY] 0.5%5 7
- B A= 1819908 AdE GxUn 17.1%%7}F HAF 4] 2.31%57}
(k| : siobel, %)
20119 = EUE(%)
T 2 2012H@ =
= E SEXEIREEE= ]
EA AR 237,160 | Hl€ | 216,686 | H|& | 235,577 | HIE 9.4 0.7
o g 5 A 219,017 | 92.3 | 201,188 | 92.8 | 217,842 | 92.5 8.9 0.5
£ 4 3 A 18,143 | 7.7 15,498 | 7.2 17,735 | 7.5| 1741 2.3
171 €54 3] 7] 4,183 | 1.8 4514 | 2.1 4779 | 2.0 A7.3 | Al125
18719583 A 13,960 | 5.9 10,984 | 5.1 12,956 | 5.5 | 27.1 7.7
B AHAEH a2 F0|
(GEEHEE))
10,000
8,000 -
6,000 -
4,000 - 2,247 2,298 060 2,356 2,372
1,942 (15.7%1) (2.3%1) (A10.4%1) (14.4%1) (0.7%1)
“'m A B m B B
2007 2008 2009 2010 2011 2012
# 2007~2011A2 & B0l &t 7| = (MACie| S28)
B AdATE MYXEE
100.0
80.0 -
60.0
40.0 -
200 1 187% 14.6% 12.6% 13.3% 13.8% 9.8%
) o . =m =W W =
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2-1. IMF oA

B AMRME o Mg (LHHEY)

2 m o i 2011 » i %7:.‘%_%
= z & ErECHH| | = ECHd|
A 237,160 | H|g 216,686 | H|8 235,577 | H|g 9.4 0.7
x| g A 11,693 4.9 11,464 5.3 11,769 5.0 2.0 A0.6
A2l = 27,792 | 11.7 31,708 | 14.6 34,745 | 14.7 A12.4 A20.0
7322 Al #1457 <) 8,235 3.5 9,477 4.4 9,802 4.2 | A13.1 A16.0
Al AAI A A )59 19,557 8.2 22,231 | 10.3 24,943 | 10.6 | A12.0 N21.6
A gk 2N 95,076 | 40.1 93,640 | 43.2 99,304 | 42.2 1.5 ~4.3
gL MEEda 3,000 1.3 3,300 1.5 3,970 1.7 A9.1 N24 4
g = 32 99,599 | 42.0 76,574 | 35.3 85,789 | 36.4 30.1 16.1
IR FF 87,439 | 36.9 68,188 | 31.5 73,874 | 31.4 28.2 18.4
RS 12,160 5.1 8,386 3.9 11,915 5.1 45.0 2.1
X & oz S = = = = = = = =
LI IHA 11,026 4.6 12,047 5.6 12,396 5.3 N85 A1
S3EMY ek 3,102 1.3 751 0.3 2,860 1.2 313.0 8.5
mE=; 1,478 0.6 1,177 0.5 1,060 0.4 25.6 39.4
=ty 13,862 5.8 14,612 6.7 16,879 7.2 A5 A17.9
SHES 73,428 | 31.0 46,578 | 21.5 53,559 | 22.7 57.6 37.1
71| AtElSX| 29,979 | 12.6 27,432 | 12.7 30,754 | 13.1 9.3 N2.5
| 2a 2,321 1.0 3,463 1.6 3,983 1.7 | A33.0 | A41.7
° SElof =Lt 36,708 | 15.5 34,608 | 16.0 39,945 | 17.0 6.1 A8.1
2] A BT 2,715 1.1 4,182 1.9 3,606 1.5 A35.1 N24.7
Al +=530s 14,876 6.3 13,466 6.2 14,302 6.1 10.5 4.0
TEUX| AL 13,515 5.7 23,071 | 10.6 24175 | 10.3 A41.4 N44 A
i e & - - - - - - - -

£

of|H|H| 2,575 1.1 4,942 2.3 588 0.2 | ~47.9 337.9
7| et 31,575 | 13.3 30,357 | 14.0 31,470 | 13.4 4.0 0.3
Qlzdy| 31,664 | 13.4 31,130 | 14.4 32,796 | 13.9 1.7 N3.5
E=xal] 17,325 7.3 17,950 8.3 18,510 7.9 A3.5 NB.4
M| BaolH 45,029 | 19.0 40,388 | 18.6 44,443 | 18.9 1.5 1.3
| MEXE 135,723 | 57.2 116,258 | 53.7 132,085 | 56.1 16.7 2.8
XL EX} 1,984 0.8 2,008 0.9 2,020 0.9 A1.2 A1.8
2 2rx 1,347 0.6 1,621 0.7 1,621 0.7 | ~16.9 | A16.9
L 5 2l 1,513 0.6 2,383 1.1 2,382 1.0 | A36.5 | A36.5
ofd|e| 27| Bt 2,575 1.1 4,947 2.3 1,720 0.7 N4T7.9 49.7
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2-1. 18 o&HR
QO k3|
(Shel - wHakel %
2011 T zUE(%

e 20124 g = ES| ctxcfd| | 2 ZEhy|
Al 219,017 | H|g 201,188 | H|g 217,842 | Hlg 8.9 0.5
XA 11,693 5.3 11,464 5.7 11,769 5.4 2.0 A0.6
Noel = ¢ 9,832 4.5 16,386 8.1 17,187 7.9 | 2400 | ~42.8
73 A 2= 5,333 2.4 6,280 3.1 5,386 25 | Al5.1 A1.0
Al QA A A 959 4,499 2.1 10,106 5.0 11,801 5.4 | AB5.5 A61.9
X gk m 2 A 95,076 | 43.4 93,640 | 46.5 99,304 | 45.6 1.5 N4.3
| MEEHS 3,000 1.4 3,300 1.6 3,970 1.8 A9 N24 .4
2 = 2 99,416 | 45.4 76,398 | 38.0 85,612 | 39.3 30.1 16.1
IR FH 87,277 | 39.8 68,033 | 33.8 73,718 | 33.8 28.3 18.4
TH R 12,139 5.5 8,365 4.2 11,894 5.5 45.1 2.1
P S = = = = = = = - -
dHtZ S 11,026 5.0 12,047 6.0 12,396 5.7 AB5 | A1
SSEMY et 3,102 1.4 751 0.4 2,860 1.3 313.0 8.5
g 1,478 0.7 1,177 0.6 1,060 0.5 25.6 39.4
=5t 2y 13,862 6.3 14,612 7.3 16,879 7.7 A5.1 A17.9
BHES 59,248 | 27.1 35,122 | 17.5 39,887 | 18.3 68.7 48.5
I AtEIER 27,353 | 12.5 24,757 | 12.3 28,034 | 12.9 10.5 N2.4
| =A 2,321 1.1 3,463 1.7 3,983 1.8 | ~A383.0 | ~4l7
| sasern 36,708 | 16.8 34,608 | 17.2 39,945 | 18.3 6.1 A8
2 sl maT|Y 2,715 1.2 4,182 2.1 3,606 1.7 N35.1 N24.7
Al ke 14,876 6.8 13,466 6.7 14,302 6.6 10.5 4.0
FELUX e 13,239 6.0 22,804 | 11.3 23,883 | 11.0 | ~A41.9 | A44.6
. nEy|& - - - - - - -
= of| e H| 2,575 1.2 4,942 2.5 588 0.3 N47.9 337.9
7|Et 30,514 | 13.9 29,257 | 14.5 30,419 | 14.0 4.3 0.3
2l 74| 30,448 | 13.9 29,799 | 14.8 31,502 | 14.5 2.2 N3.3
24| 16,239 7.4 16,553 8.2 17,042 7.8 A1.9 A&7
A dato|™ 43,758 | 20.0 39,545 | 19.7 43,372 | 19.9 10.7 0.9
| MHEXE 123,440 | 56.4 106,806 | 53.1 120,981 | 55.5 15.6 2.0
SXLEX - - - - - - -
2 2xn 1,347 | 0.6 1,447 | 0.7 1,447 | 0.7 AB.9 N6.9
L 5 el 1,210 0.6 2,096 1.0 2,090 1.0 | ~42.3 | ~42A
oflH|H| 7| EL 2,575 1.2 4,942 2.5 1,408 0.6 | ~47.9 82.9
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2-1. IMF oA

O SEsACIEISEA+3 7| SE3|A)

(Shel - wHokel %
T 2 2012d 5 = 20114 1= giffggémul
Al 18,143 | HIE 15,498 | H|& 17,735 | HIE 17.1 2.3
XA - - - - - - - -
Noel = 17,960 8.2 15,322 7.6 17,558 8.1 17.2 2.3
78282 A 8147 <) 2,902 1.3 3,197 1.6 4,416 2.0 N9.2 A34.3
Al A A A A 259 15,058 6.9 12,125 6.0 13,142 6.0 24.2 14.6
X gt m 2 A - - - - - - - -
MY e - - - - = - - -

ol
2 = J 183 0.1 176 0.1 177 0.1 4.0 3.4
TR T 162 0.1 155 0.1 156 0.1 4.5 3.8
TH R T 21 0.0 21 0.0 21 0.0 0.0 0.0
Ao xS = = = = = = = =
I IHA - - - - - - - -
S3EMIE A - - - - - - - -
ns - - - - - - - -
23t 2 - - - - - - - -
I R 14,180 6.5 11,456 5.7 13,672 6.3 23.8 3.7
71| AtElEX| 2,626 1.2 2,675 1.3 2,720 1.2 N1.8 N3.5
2A - - - - - - - -
s Sl bt - - - - - - - -
4 setmariy - - - - - - - -
+&5YuE - - - - - N - =

Al
TEXX 9N 276 0.1 267 0.1 292 0.1 3.4 N5.5
- e - - - - - - - -
=] oy - - - - - - - -
7|Et 1,061 0.5 1,100 0.5 1,051 0.5 N3.5 1.0
2l ZAH| 1,216 0.6 1,331 0.7 1,294 0.6 N8.6 NB.0
E=xalll 1,086 0.5 1,397 0.7 1,468 0.7 | ~223 | A26.0
M| daolH 1,271 0.6 843 0.4 1,071 0.5 50.8 18.7
| MHEXE 12,283 5.6 9,452 4.7 11,104 5.1 30.0 10.6
XL EX} 1,984 0.9 2,008 1.0 2,020 0.9 A1.2 A1.8
EARCESPYE - - 174 | 0.1 174 | 0.1 | ~100.0 | A100.0
L 71 2k 303 0.1 287 0.1 292 0.1 5.6 3.8
ofle[H| 7| et - - 5 0.0 312 0.1 | A100.0 | A100.0
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